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Laplace transform is calculated
with the command  laplace (f(t),t,s):

f(t) denotes the function to be transformed, 
t is the independent  variable of the function,
s is the variable of the transformed function

For calcualtaion of Laplace transform
or inverse Laplace transform 
the package with integral transforms 
has to be downloaded:

> with(inttrans);

† 

[fourier,laplace,invlaplace,...]

Example 1:

>  laplace(t^2,t,s);

† 
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>  f(t):=t^2*sin(5*t);

Example 2:

>  laplace(f(t),t,s);
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f(t) := t2 sin(5t)
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Inverse Laplace transform is calculated
with the command  invlaplace (   (s),s,t):

  (s) denotes the function to be transformed, 
s is the independent variable of the function,
t is the variable of the transformed function
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>  phi(s):=exp(-4*s)/s;

Example 3:

>  laplace(   (s),s,t);
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Heaviside(t - 4)

>  phi(s):=exp(-3*sqrt(s));

Example 4:

>  laplace(   (s),s,t);
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